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Metals are solids at room temperature, except mercury,
which is liquid at room temperature.

They are good conductors of heat and electricity.
Copper 1s the best conductor of electricity tollowed by

The property by virtue of which metal can be beaten
into sheets is called malleability. For example, we use
aluminium foil to pack food.

The property by which metals can be drawn into wires
15 called duetility. Metals hike copper, silver and
aluminium can be drawn into wires.

Metals are sonorous. They produce sound when struck.
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Polyvinyl Chloride
(PVC)

olystyrenc (PS)

Polyethylene { PE)

Polypropylene (PP)

Thermoplastic

Bottles, raincoat, pipes, handbags,

shoes. electric cable insulation. furnit-
ure, ropes, toys, etc.

'hermo-insulating parts of clectric

appliances like refrigerators, gears of

machines, toys, protective coverings
like covers of CD and DVD, etc.
Milk bags. packing bags, flexible
oarden pipes, etc.

Parts of loudspeakers and vehicles,
ropes. mattresses, laboratory applian-
ces, eLC.
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Atmospheric Pressure : The pressure exerted by the column
of air per unit area of the earth’s surface 15 known as
Atmospheric Pressure. It can be measured using a device

called a barometer : Evangelista Torricelli was the inventor
of the barometer. A barometer 1s a device which 1s used for

the measurement of air PTEssUTe,
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Oscillatory : coming back to the same position after a
fixed time interval, like a pendulum. The time taken by
the pendulum to complete one oscillation is called its
time period.
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35, Anobjectisplaced 1.5 m from aplane mir-

v L

ror. How far 15 the image from the
object”

(A)3Im (B) 1.5m

(C) 2 m (DY 1 m

8. (A
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Increase in Height
The most conspicuous change during puberty is the
sudden increase in height. The bones of the arms and
the legs elongate and make a person tall.
At about 18 years ol age, a girl and a boy reach their
maximum height.
Height of an individual is more or less similar to that of
some family member. This 1s because height depends
on the genes inherited from parents.
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Se Ct '--& i " .« N -y
cle ) ect answer using the cod

i

BIVEen Dcliow
(1) Only A is correct
N
> :
{(2) Ly B 15 correct

(3) A and B are correct

(4) Neither A nor B is correct
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4. Endocrine Glands and Hormones

The endocrine system is made up of glands that produce
and secrete hormones, chemical substances produced in
the body that regulate the activity of cells or organs. These
hormones regulate the body’s growth, metabolism (the
physical and chemical processes of the body), and sexual
development and function.

Endocrine glands release hormones into the bloodstream to
reach a particular body part called target site :

Glands Location
Pituitary gland At the base of brain
Pineal Gland At the base of brain
Thyroid Gand MNeck
Thyvmus Gland Chest
Pancreas (Islets of Abdomen

Langerhans
Adrenal Gland Above the kidney

Gonads Pelvic cavity
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Red Data Book

The Red Data Book is the file for recording rare and
endangered species of animals, plants and fungi.

Red data book gives important data for observational studies
and monitoring programmes on habits and habitats of rare
and endangered species.



LIVE

Question # 110 ] =XAMCART

When lertlisation does not

relcased egg and thickened lin

uterus is shed off. It is called
(1) Pregnancy

(2) .\k'ndrghc

.

//_5» Menopause
(4) \1cnslm;nmn
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Menstruation : If fertilisation does not occur, the
released egg, and the thickened lining of the uterus along
with its blood vessels are shed off. This causes bleeding
in women which is called menstruation. Menstruation
occurs once 1n about 28 to 30 days.
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(1)

(ii)

Coke : It contains 98 % carbon. It 1s porous and the
purest form of coal. It is a good fuel and burns without
smoke. It is largely used as a reducing agent in the
extraction of metals from their ores. It is also used in
making fuel gases like water gas and producer gas.
Coal Tar (Liguid) : It 15 a mixture ol different carbon
compounds. Its fractional distillation gives many
chemical substances (Benzene., Toluene, Phenol and
Aniline) which are further used in the preparation of dves,
explosives, paints, synthetics fibers, drugs, photographic
materials, roofing materials and pesticides.
Naphthalene balls (also obtained from coal tar) are used
to repel moths and other insects.Initially coal tar was
used in metalling the roads but these days bitumen, a
petroleum product 1s used. Bitumen 15 a sticky, black,
highly viscous liquid or semi-solid form of petroleum.

(ii1) Coal Gas : Coal gas is mainly a mixture of hvdrogen,

methane and carbon monoxide. It is obtained during
the processing of coal to get coke. It is an excellent
fuel. It was earlier used for lighting houses, factories
and streets in Mumbai until 1950, Now it is mainly used
as a source of heat.
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[t 15 important to note that different substances burn at
different temperatures. For a substance to burn, some
minimum temperature 15 required and this minimum

temperature 15 Known as *lgnition Temperature™. For
example, the lgnition temperature of phosphorus is 35°C.

So. unless phosphorus is heated to 35°C, it will not catch
fire.
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Part Plant Cell Animal Cell

Cell Membrane Present Present
Cell Wall Present Absent
Cell Shape Square or [rregular or round in

rectangular in shape

shape
Nucleus Present Present
Cytoplasm Present Present
Plastids Present Absent
Vacuole Few large or a Usually small and

single, centrally NUMEerous.

positioned vacuole
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For example: If current is passed through copper sulphate
solution copper gets deposited on the plate connected to
negative terminal of the battery because when we pass
current through copper sulphate solution, the positive
copper 10ns try to get electrons from teh negative terminal
ol the battery and will be deposited on the plate connected
to the negative terminal of the battery.
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Heavenly body

Characteristics

NVes around
SUn in clliptical
ordit and has a
bright head and a

taul

(] A-11 8-1V. C.] D-11]
> A-UIL B-IV. C-1n D-1"
£3) A-1V, B-N1, C-11. p.17

(4) A-II, B-IL, C-1V. oy
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8. Asteroids
These are small objects such as rocks (mostly debris) which
revolve around the Sun.

They are mostly found in the Asteroid Belt which lies between
the orbits of Mars and Jupiter.

They are too small to be called planets. These are also known
as Planetoids or Minor planets,

9. Comets

Comets are also members of our solar system. They revolve

around the Sun in highly elliptical orbits. However, their

period of revolution around the Sun is usually very long.

These are shiny, luminous “*Tailed Stars”. These are rocky
and metallic materials surrounded by frozen gases.

They travel towards the Sun. Their tail faces opposite of the
sun and their head faces towards the Sun. They become
visible when they travel close to the Sun.

Halley’s Comet is the most famous comet which comes close
to the Earth every 76 vears. It last appeared in 1986 and will
next appear in 2061.

Some people think that comets are messengers of disasters,
such as wars, epidemics and floods. But these are all myths
and superstitions.
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Composition of air : Air contains 78% Nitrogen, 2 1% oxyeen,
0.9% Argon. 0.03% carbon dioxide and 0.07% other
constituents of air.
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Effects of global warming : Melting of ice cap and glacier,
increase in frequency of floods, soil erosion and unseasonal
rains, loss of biodiversity due to the extinction of coral reefs
and other species and spreading ol waterborne and
insectborne diseases are some effects of global warming
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H A\spergillus
{ Param iecCium
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Choo
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(1) A onh

v 2) A and R only

. (3 .
) B,Candp onlv

4) B and D only
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No. organisms
l.

I

S.

Micro -

Bacteria

Fungi

Characteristics

I'hese are simplest unicellular organisms
having rigid cell walls like plant cells.
Thus, hacteria are small prokaryotes with
no cell organelles like mitochondria or
chloroplasts.

Based on their shapes, bacteria are of

four types, ie.. bacillus (rod-shaped).
coccus (spherical-shaped), spirillum
(spiral-shaped) and vibrio (comma
shaped). e.g.. Lactobacillus, Rhizobium.
Causes diseases like TB, tvphoid. cholera.
It is a large group of organisms which do
not have chlorophyll and do not
photosynthesise, thus are heterotrophs.
They are found in colonies, e.g., Yeast,
Penicillium. Aspergillus and Rhizopus
(bread mould).
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[t is Important to note that Static Friction > Sliding Friction
= Rolling Friction
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(i)

(i)

Kharif Crops (Rainy Crops) : The crops which are sown
in the rainy season (7.¢., they are planted from June and

harvested in September or October) are called kharit

crops. Paddy, maize, soya bean, groundnut and cotton
are Kharif crops.

Rabi Crops (Winter Crops) : The crops grown in the
winter season (i.e., they are planted from October/

November and hurw:rm:d in March/April) are called rabi
crops. Examples of rabi crops are wheat, gram, pea,
mustard, and linseed.

(iii)Zaid Crops (Summer Crops) : The crops which are

orown in the summer season are called zaid crops.
Muskmelon, watermelon and cucumber are examples
for zaid crops
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Dhfferent activities in crop production are ploughing, sowing,
applving fertilizers, harvesting and seed storage. All these
activities collectively have an effect on the yield of crops.
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The magnitude of an earthquake can be measured by the
Richter Scale and Mercalli Scale.



Question # 124 }

LIVE
=X AMCART



Book Page No. #5, 6

] LIVE

=X AMCART

(ii) Calorific Value : It is the quantity of heat produced by
the complete combustion of 1 kg of fuel at constant
pressure and normal conditions. In case of liguid or
gaseous fuels to measure the calorific value, their
volumes are taken into consideration while for solid fuels
their masses are taken into account. It 15 measured in

Kilo Joule per Kilogram (kJ/Kg). The more the calorific
value of a fuel, the more is the efficiency of the fuel.
Amount of heat hberated

Calonfic Value = " f
Lalorihc Value ['otal mass or volume of fuel
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['in cans, used for storing food, are made by electroplating
tin onto iron. Tin is less reactive than iron. Thus, food does
not come into contact with iron and 1s protected from getting
spoilt.
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2. Change in Tense

['he direct sentence has two parts, The first ( the reporting speech)
introduces the person who speaks and the time ( Preseny, Fast or
Future) when he spoke. The second part the reported speech tells
what were the exact words of the speaker when he spoke. This
reported speech (7.e what he spoke) may be in any tense and 15
put within inverted commas. The first thing in changing 1t into
indirect 1s to establish a congruency or consisfency between the
tenses of the two parts,

Examples :
Inchirect ;: He said to me, “My father cied last vear,”
Direct : He told me that his father had died the previous

vear.
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C hange the give cntence to indirect

We are waltching

-
'ahul that they are

el that they were

hev told Rahul that they are
watching crickelt

| ey told Rahul that they have been

watching crickel
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3. Use of Conjunction Between
the Two Parts

When the reported speech 15 a mere stafement {asserfive or

negative) or an exclamatory senfence the conjunction that
15 used between the Reporting and the I-':-:|'|u|'l-;:d speech to
unite them.
Examples
Drirect : He said o Raman, “It is quite dark.”
Indirect : He said to (or told) Raman that it was guite
dark.
[Direct : He said, “What a beautiful child '™
Indirect : He exclaimed that it was a very beautiful
child.
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(4)

option indicating the

111 ¢

NICNCC
| TUNNer
She 1s so stow 1o be a runner.
She 1s slow 1o run

She 1s so slow that she cannot be a

TUnner

She 1s too slow. she couldn’t be a
runner.
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22, Choose the correct alternative for the
following sentences.
He was to0o slow o win the race.
(A} Heis soslow that he cannot win the
Face
(B} He was so slow t
win the race.

1at he could not

(L) He was too slow that he cannot win
the race

([} Mone of these.

21, (B)
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Chooxe the correcet Ouestion Tag for the

followime sentence

s ‘l\llla' hwl oulside l«n’.l\.

{2Z) 1sntt
(3) doesn 't il

(4) arentl
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A negative tag is added to a positive statement while a
positive tag 15 added to a negative statement
Examples :
He is very hungry, sn't he 7

[t isn't very cold today, is it ?

[t may be noted that it is not only the negative verb that
forms a negative sentence. It is rather the essence or
idea of the sentence. The negative idea may be conveved

by
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(‘IIUH U ‘llL' correct \_‘.‘H]llllk'll(lll In[ ‘}

{10

|t\|||\\‘.|l]}'

s 1sthermy she gifted me
) treside

(2—wWhere

(37 that

(4) 1
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Subordinating conjunctions introduce either a noun clause
or an adverb clause.

(i) The most common conjunction used before a noun
clause is that :

Examples : | know that he is an honest man.
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Xl Correlatives either.....or, neither...nor, both ... and, not only...
but also must be plm'.:.td i|'r'||'|1;'.d|'zs|ln:l}-' betore the words 1l1|::;

relate to
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Definition

An interjection 15 a word which expresses some sudden feeling
or ¢motion.

The Emotions that the lnta-'r'je{'ti:]-n F.‘.h:[:ll'i,"-i.!i

Emotions Interjections Example

l. Joy Hurrah!, Hurrey!, | 1. Ha-Ha! I have got
Ha-Ha!, Hip-Hip- My NCW CAr.
Hurrah! 2. Hurrey! I have sot admis-

sion in the university,

2. Griefl Alas!, Ah!, Oh! . Alas! She 1s no more,
2. Ah! My son has falled again
3. Burprise Oh!, What!, Ha!l 1. Oh! ¥You are here,

|-

What! Is that so 7

4, Appreciation Bravo!, Hear-Hear! 1. Bravoe! You have done well.

It

or Approval Hear-Hear! Correct

AMNSWET

L]

. Contempt Fooh!. Fie! . Pooh! How dirly,
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['here is a general notion that the Subject of a sentence of
Active Voice is changed into Object and the Object is
changed into Subject while changing it from Active to
Passive. It becomes necessary only when the Subject is a
Personal Noun or Pronoun. It it 15 a general one 1t does not
become the Object of the Passive Structure, No object is
required. e g Someone, some body, everybody., they. people
etc. are dropped.

Active : Some people do not cast their votes.

Passive : Some votes are not cast,
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1. Definition
The words that modity a verb, and adjective or another adverb
are known as adverbs

Exam F'_Illl;':i - He  walks 'alu;m'l}
(Main  Adv.
verh)

He s kind  enough
Ady. Adv,
She speaks quite clearly.
Adv.  Adv.
'he furniture was arranged beautifully, (modifies the verb
“arranged’)
Examples : It was a very precious diamond, (modifies
adjective ‘precious’)
She gave the reply guite frankly. (modifies
the adverb “franklv™)
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(ii) Some coordinating conjunctions are adversative
because they express confrast or opposition. The main
Conjunctions of this type are : But, although, though,
ver, still, neverthless, while, whereas elc.

Althousf he 15 only eleven ver (not but) he talks
like an elderly person.
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Read the passap
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The Wal Disney Company beeame the first

major media company to ban advertisements tor
candy bars and unk tood on its television
channels, radio stations and websites, to stop
food manulacturers from peddling nutritionally
challenged fattening junk for kids. The ban
covers foods with oo much sugar. too much
salt or a full meal more than 600 calories.

Predictably. the outraged public said that

k banmng smoking in publu. places and artery-

¢ earchully and answer the

stopping them from guzzling comlort drinks by

the litres was almost a human rights violation

It seems most people are not just happy choosing
their own poison, They also wiant it i super-
sized doses, guaranteed to Kill sooner than later,
for after tobacco use. obesity is the biggest
public health bugbcar that triggers more
avoidable discases and deaths than malnutrition
Overweight and obesity arc the leading causes

for global deaths. killing 2.8 million adults cach

yea ;)Vqudwadc abesnw has more. thnn doubl«.d




choices are many. with almost all driven by ’ l : : . k‘l LIVE
- GIVIGINE & PEMONTS Weig ' s by the
socio-economic causes such as low education e p ul'hl IN Kl Om"‘b b) 'ht
and limited income. Like killer infections, TN L ) "
obesity and the resultant type-2 diabetes aflect :‘q“l”l 0' hl‘\ hclghl 1) 'nc"cs (kg/‘n.). rhc
the poor more than the affluent, largely because

processed and fast food are cheaper and take “,I lU dcn""i(m "\‘ d BM' L’JL'&I(CT ‘han Of (‘qu&'

less or no time to prepare than healthy home-

cooked meals. Limiting food choices, however, u) 25 is (Wcrwcig'“. 30 is obcsc' bm mc Clﬂ'
!

1s not enough

The need is 1o get children off their chairs and 0"5 rOT ‘hc swlh ASiﬂﬂSﬂmB fﬂr ovmgh‘
into the playgrounds. Too much screen time., | N >

J.., .““v

lealihy children Tatand prmmg them at risk of

type-2 diabetes i the second decade of their

lives, The lifestyle disease that interferes with
the way the hody metabolises glucose typically
alfects people in their fifties und sixties and is

linked with i host of complications.

The official measure of obesity in adulis is Body

3 e o
Js Wi
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[ Question # 98 ]
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Circumference =2nr=mnd.

Arcaofacircle=nr
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¢

[ Book Page No. # 96 }

9 3 1-
(a—=by =a - 2ab+ b
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[ Question # 6 }
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& h‘ﬁ={cx ) {a+ b)
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Circumference =2nr=nd.

Areaofacircle=nr
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4. Fromapack ol 32 plaving cards, one card
15 drawn at random. The probability of
the drawn card being a black ten or aKing

15
(A) 526 (B 3/26
(C) 3/13 Dy 2713

(5 k!

4. (B) Required probability = —- =

32 26
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‘ y tr1angic 6H3 n{
ne angis
- ne alio |
remaining tvo angies aft 1C 1
L=
1 | o r
1 1he ¢ASUrc the rec .I\,ln
-
the tnangic, |
(1) 6H
(2)y 70° .
38 18
o
(4) 82
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The sum of mt{:nm c]l1“|t‘b of a triangle is 180°,
SA+ B+ 20 =180
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4. IfA:B:C=2:3:35, then find the ratio
B+C C+A A+B
A B 0 ©C
(A)y4:7:1 (By 12:7:3
(C)y4:7:3 (Dy4:7:13

14, (B) A:B:C=2:3:5
B+C C+A A+B
A B C

PutA=2 B=3and C=5,

3+ 5 512 213
‘1 ' -
2 3 3

-
= d4:—:1=12:7:3
_“|
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Time

The duration in which an object covers a unit of distance is
called time. It is denoted by T ort.

_ Distance D
Time = Speed or T= 3
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Divisibility by 3 :

A number is divisible by 3. if the sum of all digits of the

number is divisible by 3.

Example : 786, here 7+ 8 + 6 = 21 (completely divisible
by 3)

S0, the number 786 will be divisible by 3.
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I'his rule is very important for the arithmetical simplification.
When Vinculum, Of, Division. Bracket, Subtraction all or two
or more than two operations are present in any question. then
we can find out the result with the help of VBODMAS Rule.
The details of this rule are given below :

-

Order  Abbreviated Meaning Notation
| ' Vinculum or Bar —
2 B Brackets [ 1.4 5.0)
3 O of of
4 D Division +
5 \ Multiplication B
6 A Addition +

o) Subtraction —
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P— pe——

24. '.."'-.":.‘T".J[' + 4961 = I":':

(A R (B) 3
(CY 6561 (D 9

24.(B)  JJ2500 + 961 =(?)°

= J30+31 = (2
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27. Two cubes have their volumes 1n the

ratio 1 - 64, Find the ratio of their surface

areas.
(Ayl:4 (B) 4:1
() 161 (y1:16

27. (I Let their sides be m and n. We have.

Ratio of their surface areas

b

f};;z

nr

'y I -
" 4 ) 16
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1. Ifthe length, width and height of a cuboid
are 4.2 m, 3 m and 1.1 m respectively,
then its capacity (in litres) will be :

(A) 12860 (B) 138610
(C) 14560 (L) 13860

11. (B) Given, length (/). width {w) and
height (/1) of a cuboid are 4.2. 3 m
and 1.1 m respectively.

Volume of cuboid =1 = w = §
42m=3m=1L1m
= 13.86 m’
I m* = 1000 L
Hence. its capacity = 13,86 = 1000 L.
= 13860 L
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Ex. 4: Present age of rajesh's father is three times of
present age of Rajesh. After 5 vears, the sum
of their ages will be 70 vears. Find their present
ages.

Sol : Let. Rajesh's present age = x vears
Then, Rajesh's father present age = 3x years
After 5 years,

Rajesh's age = (x + 5) years
Rajesh's father age = (3x + 5) years

According (o gquestion,

(x+5)+Gx+353)=T0 (ziven)
(x+3x)+(5+5)=70
dx+10=70
Subtract 10 from both sides.,
de + 10 —10 =70 —10
or e = 60
On dividing both sides by 4,
x = 60 _ 15
]
Hence, Rajesh's present age = 15 vears

and Fajesh's father present age = 45 vears

LIVE
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If number of sides of a regular polygon 1s » then,
(Zn—4) x 90"

)

Interior angle =
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32, In figure, if /|| m, then find x.

4 - |
(pLh :
A
iz

\
A

4 ou ™
(A) B~ (H) &iF
(C)y 407 (D) 1407

32, (C) According to the question,
v + 60 + 80 = 180 (Linear pair)

— = 180 — 140 = 407
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19. The given pie-diagram shows the cost off
building a house. It the total cost of
construction of the house is 1300000,
then wages will be spent.

T

‘-.hu;_{-._'\\\

!

B II

(A 90000 (B) ¥ 2.50,000
(C) ¥ 3.60.000 (1) 33,773,000

Q0=
360°
25%

L% 25% ol 15,00,000

19, (D) Wages % = 100%

25
1000
= F3.75.000

1| SO0
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v\," A
CNnis arc¢
Iy
\ | e O1 { 3 adad
-~ 4 \J
|
|
B Lube of a single digit number cannot
OC a single digit number N
i YL o » . »
( A perfect cube may end with exactl
\“ ’

(WO Zeroes

D. Cube of a 2-digit number has at least
3 digits,

(1) A. B, Conl

(2) B.C.Donh

(3) A,B,Donl

yH/:\. D only
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3. CUBE OF NUMBERS

[f we multiply a number by itself three times, the product so
obtained 1s called the pertet cube of that number. It 1s shown
by power “3". If v is the cube of x, then

=Y
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Supplementary Angle
Two angles are called supplementary angles, if their sum is
1807, Example, if’ e+ [5 = 1807, then angles o and [3 are said
to be supplementray angles to each other.

[

oL B

5]
)

o+ [= 180
Sum of all interor angles = (2Zn—4) = 90°
3600
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4.1 Arithmetic Mean or Average

Average value in arithmetic is called arithmetic mean in

statistics. Therefore, a value which is obtained by dividing

the sum of the values of all terms by the number of terms.

Ex : [ the weight (in kg) of five persons are 50, 54, 53,
52 and 56, then find their arithimetic mean.

Sol. :  Awverage weight = Sum of all observations/Total
number of observations
=(30+54+53+52+56)/5
=265/5=53kg
Hence, the arithmetic mean of all the weights

=33 ke
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Hyvpotenuse 1'."(I’m-pundiuulm'f—:Hu:wf

Perpendicular = /{Hypotenuse)” — (Base)®
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' 19
{2) Q 2O()
\J) < 5.92.000
(4 T 583 00
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16. The value of a machine is devalued at
the rate of 10% per annum. Il was
purchased three vears ago. 1T its present
value is 1,45.800, how much was 11
bought for?

(AT 1,800,000 (BY T 2.00.000
(C) T 2,710,000 (DY 3 1.75.800

16. (B) Let. 3 wears ago., the value of
machine was x. 50. we have

G0 i G

X* o0 © 100 * o0 = 1:49.800

T4SB00 = 100 = 100 = 100
G ¢ Q) 2 O0)
= x=x 2.00.000

= X=
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Ex :

Sol. :

A student got the following marks in the
nine question papers :
65,36, 58.62, 42, 40,72, 82,25
Find the median of the obtained marks.
Arrange the obtained marks in ascending
order. We have.
25, 36,40, 42, 58, 62,65, 72, 82
Here, the total number of terms. n = 9,
(an odd mumber)

R

Lo, median = value of 5 th term
oL 4

= value of 5" term In the ascending order
= 58 marks
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15. By what least number should 648 be
multiplied to get a perfect cube
(A) 3 (B) 6
(L) Y (Ld) 18

15.(C) 648 =8 = 81 = (29 = (9)2

I'o make a perfect cube, we will have
to multiply by 9.
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Ex. :

If a man buys a pen for ¥ 25 and sells it for ¥ 30, then he
makes a Profitof30 -25=%5

If a man buys a pen for ¥ 25 and sells it for < 20, then he
makes a Loss 0f 25 -20=335

A man buys a pen for ¥ 25 and sells it for T 30, then his gain
30-25 5

“.—"n

55 < 100= 25 % 100=20%

A man buys a pen for ¥ 25 and sells it for T 20, then loss %

25-20
= % 100=20%

25

e

LIVE
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24. There is food provision for 100 men
for 30 days. It number of men is
reduced to 80, then the number of days
the food could last for is

(A) 28 (B) 35

1
(Cy 372 (D) 37

4. (C)

Men, # Days, = Men, = Days,
100 = 30=80 = d
d=125%3
=373

LIVE

25, 1200 soldiers in a fort had enough food
for 28 davs. After 4 davs, some soldiers
were transferred to another fort and thus
the food lasted now for 32 more dayvs,
How many soldiers left the fort 7
(A) 300 (B) 400
(C) 200 (I3 100

25. (A) Let the number of soldiers lett the
fort be x.
According to the given condition,
1200 = 24 = x = 32
1200 = 24
32

So, the soldiers left the fort
= 1200 — 900 = 300

= y = =r_!\:='5'ﬂ'ﬂ
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13, Which least number must be subtracted
from 176 1o make it a perfect square

(A) 16 (B) 7
(C) 10 (D) 4

13.(B) 176 =169+ 7 =13y + 7

Hence, least number 7 is subtracted
to make a perfect square.

LIVE
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Reasoning

Sainik School Class 9th
Subject —Reasoning

No of Ques

asked from
our book

23 25 52,53,54,55,56,58,59,60,61,62,63,64,65,66,67,
68,69,70,71,72,73,74,75
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1.SEQUENTIAL ORDER TEST

[ sequential order test guestions, objects/persons are aranged,
based on the comparison of some criterion such as age, height,
salary, size, length, marks, weight etc.

Ordinarily, we compare the persons/objects using various
notations such as equal to (=), less than (<) greater than (=), less
than or equal to (<) and greater than or equal to (=).

Ex. 1. Umesh is taller than Satish. Suresh is shorter than Neeraj
but taller than Umesh then who is the tallest among
all ?

(A) Umesh (B) Suresh
(C) Satish (D) Neera)
Sol. (D) : According to question,
Umesh = Satish
Neera] = Suresh = Umesh
MNeera) = Suresh = Umesh = Satish

So, Neeraj 1s the tallest among all.
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7. Ifweassume 1 January, 1996 as Saturday
then what was the dav on 31% December,

1996 7
(A) Sunday (B) Tuesday
(C) Friday () Monday

7. (A) | January, 9% — Saturday

i1 December, 1996 — Sunday. <
In a Leap vear, there is a difference of
| day from 1% January to 31*
Lecember,

IF 1% January, 1996 was Saturday, then
31% December, 1996 must have been
Sunday.
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[II. Worker and Tool Relationship

Ex “Gun’ s related to *Soldier’, in the same way
‘Pen’ 1s related to
(A) Notebook (B) Writer
(C) Stationery (D) Doctor

Sol (B): As *Gun’ 15 a tool used by “Soldier’, same as
Pen is tool used by “Writer’.

[V. Country and Currency
Ex *Japan’ 1s related to “Yen’, in the same way as
"Nepal’ is related to
(A) Taka (B) Yuan
(C) Rupee (D) Dinar
Sol (C) : “Yen' is the currency of “Japan’, in the same way
"Rupee’ is the currency of “Nepal®.
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l]‘ _I__ Ej_ ||r-:| jﬁ_ '_3'_ __I-I.} 9. (B) The sequence of the
Ilrllm. :
(A) 50 (B) 36 - ©
(C) 64 (D) 39 = J, T

cJJ (337 (4 (3¢ (6) I'_-"J
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II. Sequence of Occurrence of Events

=X AMCART

Ex.1.  Arrange the following words in a meaningful

SeqUence

1 Birth 2. Death

3. Funeral 4. Marriage
5 Education

(A) 1,3,45.2 jE: 1.3,4,2,3
(C)y 2,3,45.1 ]-15 i.1,2

Sol. (B) : It 1s clear that the given u‘m'cl':. are based on the
life cycle of a man.
First barth comes in man’s life, then he goes for

education, then marriage. death and finally the
funeral 15 done

50, the correct order1s 1. 5.4 2 3.
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I. Sequence of Various Stages in a Process :

Ex.: Arrange the following words 1n a meamngful
order :
1. Wall 2. Sand
3.  Cement 4. Brck
5. Water
(A) 1,235 4 (B) 2.1,3,4,5
(C)y 2.3, 45,1 (D) 2,3,5, 4,1

Sol. (D) - Here, five words are given. First we need to read
all five words. Now, we can imagine that this
1s a question based on construction. We know
that the sand 1s first spread on the ground, then
cement is added to the sand and they are mixed
After mixing, water 15 added to the mixture then
the mixture 15 nsed with brick to make a wall
S0, the logical sequence of the words 15 as
follows

Sand — Cement — Water — Brick — Wall

(4) (1)

-

) i -
(2 (3) (5

T

S0, the answeris 2, 3, 5.4, 1.
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Fx. 1.

Sol. (D) :

Find out the odd one.

(A) Space (B) Sky

(C) Heaven (D) Cloud

Except clouds other words are synonyms. A cloud 1s
water vapour in the atmosphere that has condensed
into very small water droplets or ice crystal.

LIVE
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1. NUMBER SEQUENCE

In the number series, such questions are asked which are related
to the series and to be known according to the given conditions.

Ex. 1. How many such & are the numbers in the series of the
following, 7 right before, but not immediately after 5 7

TEITES12T7T8334782560683
{A) One (B Two
(C) Three (D) Four

Sol (C): According to the question, there are three 8 in the se-

ries whose 7 are right before, but not immediately after

5.

T R3ITES12|7T 83347 56683

LIVE
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In this type of analogy questions, second ligure of first pair is water
image of first figure, In water image, upper part goes to bottom and

bottom part goes to upper.

Ex. 1. : Select a suitable figure from the Answer

Figures that would replace the question mark (7).

Question Figures

1 2 3 4

|SBI(PO), 2001]

Answer Figures : From first to second figure,

Second figure is water image of first figure. Figure

o=
.-"E'x.;, \a_.-*'.h r'r- that reaches lowermost, gets inverted.
Same logic applies to other two figures.

(A) (B) (C) (1) iﬁ_

Thus. the correct answer is option (A).
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b.

What number is as much more than 10 as
it is less than one half of that from which
50015 10 less?

(A) 15 (B) 20

(C) 25 (D) 30

(B) Let that number =x

S04+ 110)
G — {] — -..r
v — It 5

2x =30+ 10
_ 4

i

20

X

LIVE
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19. It the word "SEVERAL" is coded as
RCSAMUE” then find the code for the
word "RRERZSZHM 7
(A) QPOVURBI
(B) SSSAAIN
(C) QUOYYGL
(D) STUDENT
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(3) North-South

(4) North
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The four main directions are East, West, North, South.
North (N)

South (8)

The four cardinal directions are North—East (N-E), North—West
(N-W), South—West (S-W) and South-East (S-E). These are also
known as Sub Directions.




Question # 65

: ' LIVE
'=XAMCART

‘.tg \]‘_”)



LIVE

Book Page No. # 234 } =XAMCART

2. ALPHABET ANALOGY

The questions asked in Alphabet analogy are based on 26
letters of English Alphabets. It contains the set of one or more

letters.
II. Relationship based on set of three letters
Fx. FIT: HKV :: JOB : ?
(A) LOD (B) OSH
(C) OKI (D) QRS

Sol. (A): As,
Clearly, each letter of first group In a pair moves 2
steps forward to obtain cormresponding letter of
second group.

As,
920 811 22
F 1l — EI[ T ":
k2
+2
Similarly,
10 15 2 12 17 4
;0O B L ©Q D
| ] _ t I ]
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3. NUMBER ANALOGY

The question asked in Number analogy are based on square-
square root, cube-cube root, addition-subtraction, multiplication-
divide, even-odd of numbers.

I. Square Based Relation

. 2:25::11:7%7
(A) 30 By 121
(C) 80 (D) 150
Sol. (B):
52 — 25
11- = 121

? = 121

LIVE

=X AMCART




LIVE
=X AMCART

Question # 67 ]

067

}'T \.: ”]L‘ ]'.l\\:}:v !”;””‘\'



 Book Page No. #254 |

(C) 62 (D)) 35
SoL.(B): As, (5x4)+(3x2)=20+6=26

and, (8xd)+(6x5) =32+ 30 =062

Similary, (3= 8)+(7x3) =24+ 35 =

o9

LIVE
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p68 Find the next patiern in the sequence

(4) (
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1. BASED ON FIGURE ROTATION

In this type of analogy questions, we need to establish a similarity
between the first two figures and then apply the same rule to the

other two fizgures and find the missing figure.

[fthe question is based on rotation then we need to determine how

much do the figures in the question rotates in comparison to each
other. Once you have established the angle of rotation then you

need to check on the other two.,

LIVE
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Find the mISSINE numt

(1) .
’)
(1) 41
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Ex. 3. 5 b i

25 42 21

2 10 20

. 7 1
(A) 72 (B) 26
(Cy 27 () 73

Sol. (C)y: Fecolumn: 25+525.5+2 =7
1" column 42 + 6 =7
T+ 10=17

1™ column : 21 = 3= ]

T+2{J—r~|2_?'
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Complete the analog)

3 - 11

(1) 4.2
(2) 29
(3) 38
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3. NUMBER ANALOGY

The question asked in Number analogy are based on square-
square root, cube-cube root, addition-subtraction, multiplication-
divide, even-odd of numbers.

I. Square Based Relation

. 2:25::11:7%7
(A) 30 By 121
(C) 80 (D) 150
Sol. (B):
52 — 25
11- = 121

? = 121

LIVE
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4. OPPOSITE LETTERS

estions based on coding-decoding are also found on the

basis of the opposite letters. First we know that what are
opposite letters 7 Opposite letters can be learnt in the following

way :
Ex In English alphabet, the first letter from left is A and the

first letter from right i1s Z, are opposite to each other.

The second letter from left side is B and the second letter

from right side is Y, are opposite to each other.

Le.,

'*f‘f’r“fﬂ”'“i‘””
F.
oM o talBlc|D]| G K|L|M
Beginning
From : -
f | ;
End i WIVIUITISIR|OQ O

LIVE
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Trick to Remember

SRR

(At Z) (Boy) (Crax) (Dew) (Evemng) (Few)
G H I ] K L M
I 3 K () P () M

(G.T. (Honey (Indian (Jaipur {P.K.} (Love)iMan)
Road) Singh) Railway) Cueen)

e— =
G F S
= s
13—
e
L& 7

)
tan
o

2221 20 19 18 17
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14. Question Figures

elelre]

Answer Figures

|| = ||&r| [

(A) (B) (C) (L))

14. {A) Ineach next time, figure rotates 43°
in anticlockwise direction and an
arrow shifis 1o next side whereas

an arrow shitts halt si1de 1n
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12. Each question given below has two
aroups of figures. One is for the guestion
figures. second is for the answer figures,
question figures are given in a series.
Choose the figure that comes in place of
the question mark (7)

DQuestion Figures

R T

TINT ([T | {Tonm |

[ A (H)

12. (A) Designs are rotated and two designs

are h-.:ing added.
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) C.AB.LED
(3) CEBDA

(#H~C.B,E,D A
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8. 1. Consume 2. Consclousness

3. Conscience 4. Conservation
5. Consequence

(A 3.2, 1.5 4

(BY 3.1. 2. 5.4

(C) 3,5, 2.4, ]

(D) 3.2, 5. 4.1

8. (D) According to dictionary
3. II_'[:mEIi-;:lu.:-;:

2. Conslciousness

5. '::_-[JI'I":.EL]I_J[_"'I‘II:,:‘[_"
4. lf_'mnaarx-'mim‘l

1. {fctlnhmmu

Option (D) 1s right.
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Fx 1. Find out the odd number.,
(A) 25 (B)9
(C) 16 (D) 18

Sol. (D): 25, 9 and 16 are Complete Square but 18 is not a
Complete Square.



Sainik School Class 9th
Subject — Social Study

No of Ques

asked from
our book

Social Study 13 25 127,128,131,136,137,139,141,142,146,147,148,
149,150,
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(ii) Gram Panchayat
Members of Gram Panchavat are elected fora period
of 5 years,
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@ Do vou know?

Dwarf planets are small celestial bodies found beyond the

planet Neptune. They are extremely cold and dark. They
are almost spherical in shape, but unlike planets they can
share their orbit with other dwart planets. The five dwart
planets of the solar system are Pluto, Ceres, Eris, Makemake

and Haumea.,



Question # 131 }

LIVE
=X AMCART



] LIVE

Book Page No. # 168

=X AMCART

(ili) Human Resources

Human resource refers to the number and
abilities of the people.

People can make the best use of nature to create
more resources when thev have the
knowledge, skill and the technology.

People are human resources. Improving the
quality of people's skills so that theyv are able
to create more resources 15 known as human
resource development.
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4. 29" March, 1857 is a signilicant date be-
Causc :
(A) Mangal Pandev was hanged to
death,
(B) Mangal Pandey was sent to prison,
() Mangal Pandev Med prison,

(D) Mangal Pandey killed his officers

4.1A)
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Delht was recaptured by General John Nicholson on 20
September, 1857 and deportation of Bahadur Shah II to
Rangoon where he died in 1862,
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11. Baba Guru Nanak

Baba Guru Nanak (1469-1539) was born at Talwandi (now
MNankana Sahib, Pakistan). He travelled widely before finally
settling down at Kartarpur, a town on the bank of River Ravi.
This town is now known as Dera Baba Nanak.

He started the community kitchen (langar) where all his
followers irrespective of their caste, creed and gender ate
together, The sacred space created for the purpose of langar
was called dharamshala. These dharmsalas are now called
gu rudwaras.
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Sati System :

In the early years of the 19th century, sati was In
practice in various Parts of Bengal, western India and
southern India. In 1811, Jagan Mohan Roy, brother of
Rammohan Roy, passed away and his wife was burnt

along with him. Rammohan Roy was moved to the extreme
at the sight of it and took an oath that he would have
the cruel practice abolished by law,

He carried on a continuous agitation through press and
platform for the abolition of Sati. Raja Rammohan Roy
published his tracts in 1818-20, making the point that
the rite of Sati was not enjoined by the Sastras.

LIVE
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Jamshedpur
Before 1947, only one iron and steel plant in the
country.
Tata Iron and Steel Company Limited ( TISCO)-was
privately owned
After Independence. the government took the
mitiative and set up several iron and steel plants.

TISCO—started in 1907 at Sakchi. near the con-
fluence of the rivers Subarnarckha and Kharkai in

Jharkhand.
Later Sakchi was renamed as Jamshedpur.
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Ox-Bow Lake - Due to continuous erosion and
deposition along the sides of the meander, the ends
of the meander loop come closer and closer. In
due course of time the meander loop cuts off from
the river and forms a cut off lake, also called an
Ox-bow lake
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@ Do you know?

The lithosphere is the solid outer part of the Earth. Please
note that The terms ‘lithosphere’ and ‘crust” are not the
same. The lithosphere includes the crust and the uppermost
part of the mantle. All terrestrial planets have a lithosphere.
'he lithospheres of Mercury, Venus, and Mars are much
thicker and more rigid than that of the Earth.

The atmosphere 1s a thin layer of gases that surrounds
the Earth. & The hydrosphere is the watery part of the
Earth’s surface including oceans, rivers, lakes and water
vapour.

I'he biosphere is the layer of Earth where life exists.

I'he ancient city of Petra in Jordan is an example of an
entire city carved out of rocks. There are many specimens
of magnificent rock-cut architecture in India, like the
Ajanta and Ellora caves in Maharashtra, the Aihole and
Badami temples in Karnataka, the Konark temple in Odisha

and Mamallapuram in Tamil Nadu.
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An active agent of erosion and deposition in the
deserts 15 wind. In deserts vou can see rocks in
the shape of a mushroom, commonly called
mushroom rocks.
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‘U’ Shaped Valley is found beneath the
olaciers which 1s deepened and widened by the

lateral and vertical erosion. The material carried
by the glacier such as rocks - big and small,
sand and silt get deposited. These deposits
form glacial moraines
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(i) Federalism

(ii) Parliamentary form of Government

(111) Separation of Powers
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